7.1.2. Alternative sources of energy and energy conservation measures

As per the data submitted in SSR in continuation with the same DVV Query we are furnishing the additional data on Alternative sources of energy and energy conservation measures.

Link for data submitted through SSR is mentioned below

https://www.dscasc.edu.in/images/iqac/pdf/SolarE.pdf

In alignment with the above mentioned question the details of LED Bulbs is furnished as



DAYANANDA SAGAR INSTITUTIONS

DSI/PO/General - 044/2020-2021

Date: 23/01/2021

To, M/s. Amilite # 101, Ground Floor, 3rd main, 10th block, Nagarbhabi II stage, Bangalore – 560 072 GST NO: 29AAWFA1680L1ZR

Sub: Purchase Order for Supply of Panasonic LED Light Fixtures for building maintainance at DSI Campus I

SI No	Description	Qty	Unit	Rate	Amount
1	Recess Mounting Square LED Fixture equipped with CRCA Powder coating housing, anti glare diffuser with separate energy efficient electronic driver Product Code : PBLM01368 ,5700K,36W,600x600mm	10	Nos	1595.00	15950.00
2	LED Batten : Anodized extruded aluminium housing, high transmissibility diffuser with energy efficient electronic driver. Product Code No : PBTM08208 6500K, 20W	200	Nos	280.00	56000.00
	Sub Total				71950.00
	GST @ 12%				8634.00
	Total				80584.00

Terms and Conditions:-

- 1. Refer your quotation No : AMQ/20 21/394/V1 dt: 19.12.2020 and subsequent discussion.
- 2. The above price is inclusive of transportation charges.
- 3. Delivery: Within a weeks trime from the date of PO strictly.
- 4. Payment: Immediate against delivery ,subject to certification and approval.
- 5. Warrantee: 5 Years form the date of supply.
- Materials supplied are to be free from any kind of defects. If found any rejection, same has to be replaced by free of cost.
- 7. While in-warding the materials related DC/Invoice same has to be duly acknowledged by Electrical maintenance/security for an endorsement.
- 8. For any technical details, clarifications & changes if any, to get co-ordinated with our concerned Electrical Engineer.
- 9. Relevant warranty/ test certificates to be provided along with supply.
- 10. All material specification to meet as per your quotation, if found any deviation same will be rejected to your account
- 11. Delivery Location : Dayananda Sagar Institutions,Kumarswamy Layout,Bangalore 560078
- 12. Note Our GSTIN:29AAATM2020Q3ZC,PAN No : AAATM2020Q

.

Thanking You,

Yours Sincerely,

ali coo Secretar

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560 078. Phone : +91 80 26662226 / 26660789 / 26661104 Fax : 080-26660789 Bangalore - 560 078. Tel : 080-26662226, 26661104, 26660789 Telefax : 080-26660789



Date: 14/09/2017

DSI/PO/MGVPT -076/2017-2018

То

M/s Satish Luminaries, # 7,D.K.Lane,BVK Iyengar Road Cross, Bangalore - 560053

Sub: Purchase Order for Supply of LED Light Fixtures for Computer Science Block - DSI Campus I.

SN	Description	Qty	Unit	Rate	Amount
	2 x 2 LED Panel – LCTLRN – 36 – FO - CDL				
1	36W, 6500K IP 20 white	290	Nos	2200.00	638000.00
	18W Round Surface LED Down lighter -				
2	LCDSPLN-R-18-CDL	38	Nos	970.00	36860.00
	12W Round LED Down lighter - LCDE-12-		_		
3	CDL	15	Nos	540.00	8100.00
	4'LED Batten HPF Version LT8 - 20 - 865 -				
4	2	15	Nos	370.00	5550.00
	S.Total				688510.00
	CGST @ 6%				41310.60
	SGST @ 6%		•		41310.60
	Grand Total				771131.20

Terms and Conditions:-

- 1. Reference : Refer your quotation No : SY/SBC TRP BS 018 12/09/2017 dt: 12/09/2017 and subsequent discussion.
- 2. Delivery : Within 8 10 days from the date of PO.
- 3. Payment: 50% Rs. 3,86,000/- advance along with PO and balance against delivery subject to certification & approval.
- 4. Warranty : 3 years from the date of supply
- 5. All material specifications to meet as per your quotation, if found any deviation same will be reject to your account.
- 6. During in warding of materials at site, necessary Invoice/DC to be supported with due acknowledgment.
- 7. Relevant warranty/test certificate to be provided along with supplies.
- 8. Materials supplied are to be free from any kind of defects. If found any rejection, same has to be replaced by free of cost.

Thanking You,

Yours Sincerely,

Vice President | 4 |= 9 | 1)

MAHATMA GANDHI VIDYA PEETHA TRUST

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560 078. Tel : 080-26662226, 26661104, 26660789 Telefax : 080-26660789



DSI/PO/MGVPT -075/2017-2018

To M/s Satish Luminaries, # 7,D.K.Lane,BVK Iyengar Road Cross, Bangalore - 560053

9	Sub: Purchase Order for Supply of LED Light Fi	xtures	for CD Sa	agar Block -	DSI Campus I.
SN	Description	Qty	Unit	Rate	Amount
1	2 x 2 LED Panel – LCTLRN – 36 – FO - CDL 36W, 6500K IP 20 white	80	Nos	2200.00	176000.00
2	18W Round Surface LED Down lighter – LCDSPLN-R-18-CDL	104	Nos	970.00	100880.00
3	18W Round LED Down lighter – LCDE-18- CDL	87	Nos	750.00	65250.00
4	12W Round LED Down lighter – LCDE-12- CDL	80	Nos	540.00	43200.00
5	4'LED Batten HPF Version LT8 – 20 – 865 - 2	430	Nos	370.00	159100.00
	S.Total				544430.00
	CGST @ 6%				32665.80
	SGST @ 6%				32665.80
	Grand Total		900 m		609761.60

Terms and Conditions:-

- Reference : Refer your quotation No : SY/SBC TRP BS 010 05/09/2017 dt: 06/09/2017 and subsequent discussion.
- 2. Delivery : Within 8 10 days from the date of PO.
- 3. Payment: 50% Rs. 3,05,000/- advance along with PO and balance against delivery subject to certification & approval.
- 4. Warranty: 3 years from the date of supply
- All material specifications to meet as per your quotation, if found any deviation same will be reject to your account.
- 6. During in warding of materials at site, necessary Invoice/DC to be supported with due acknowledgment.
- 7. Relevant warranty/test certificate to be provided along with supplies.
- 8. Materials supplied are to be free from any kind of defects. If found any rejection, same has to be replaced by free of cost.

Thanking You,

Yours Sincerely,

Vice President

Date: 12/09/2017